HOWARD COUNTY PUBLIC SCHOOL SYSTEM



Entity: 0038536 January 1, 2017 - March 31, 2017

JEENI GRIFFIN
EMPLOYEE BENEFITS MANAGER
10910 CLARKSVILLE PIKE
ELLICOTT CITY MD 21042-6106

Please review your statement carefully. Corrections may not be accepted more than 45 days after the closing date of the statement.

Questions? Contact Us!

CUSTOMER SERVICE: (877)677-3678

(ESPANOL): (800)649-9494 TTY: (800)848-0833

Website: www.howard457.com

Write us at: NATIONWIDE RETIREMENT

SOLUTIONS PO BOX 182797

COLUMBUS OH 43218-2797

Nationwide Investment Services Corporation, member FINRA, In Michigan Only: Nationwide Investment Svcs. Corporation

Activity at a Glance

	<u>457(b) Plan</u>	<u>IRA</u>	<u>Total</u>
Balance as of 01-01-17	\$18,086,097.77	\$18,552.36	\$18,104,650.13
Contributions/Loan Payments*	\$615,106.93	\$713.45	\$615,820.38
Interest/Dividend/Cap Gain/Reimb	\$29,479.46	\$0.00	\$29,479.46
Gain/Loss	\$727,553.22	\$1,056.36	\$728,609.58
Distributions/Loan Disbursements**	-\$536,349.51	\$0.00	-\$536,349.51
Charges/Fees	-\$5,508.03	-\$4.39	-\$5,512.42
Balance as of 03-31-17	\$18,916,379.84	\$20,317.78	\$18,936,697.62
Self Directed Option balance	\$127,545.86	\$0.00	\$127,545.86
Total Balance as of 03-31-17	\$19,043,925.70	\$20,317.78	\$19,064,243.48
See your loan information inside!			

^{*}Including, but not limited to, Employee and Employer Contributions, Loan Principal Payments, Rollovers and Transfers In.

This statement represents an aggregate of the values of active accounts for those plan participants receiving a statement for this reporting period. Values reported above represent current period totals for those participants.

Investment Option Summary - January 1, 2017 to March 31, 2017

Ending Price is as of 3/31/2017

Investment Option	Ending Price	Units/Shares	<u>Value</u>
457(b) Plan			
*AmFds 2010 TrgtDtRtrmt R6	10.5100	22,329.9714	\$234,688.00
*AmFds 2015 TrgtDtRtrmt R6	11.1300	36,121.4137	\$402,031.33
*AmFds 2020 TrgtDtRtrmt R6	11.9400	127,997.8492	\$1,528,294.31
*AmFds 2025 TrgtDtRtrmt R6	12.5700	82,978.8895	\$1,043,044.67
*AmFds 2030 TrgtDtRtrmt R6	13.2400	77,627.6748	\$1,027,790.39
*AmFds 2035 TrgtDtRtrmt R6	13.4100	33,703.7126	\$451,966.77
*AmFds 2040 TrgtDtRtrmt R6	13.6700	16,731.9730	\$228,726.08
*AmFds 2045 TrgtDtRtrmt R6	13.8400	19,609.6734	\$271,397.87
*AmFds 2050 TrgtDtRtrmt R6	13.5300	5,255.6386	\$71,108.79
*AmFds 2055 TrgtDtRtrmt R6	16.8700	2,464.4583	\$41,575.40
*AmFds 2060 TrgtDtRtrmt R6	11.0000	472.7932	\$5,200.73
*AmFds New Wld R6	56.9000	4,602.7076	\$261,894.07
Howard 457 Fixed			\$4,572,228.23
*Invsco SmCap Val Y	20.3200	22,236.9731	\$451,855.31
*JPM Eq Inc R6	15.6600	38,863.7018	\$608,605.54
*JPM US Eq R6	15.5800	23,353.1198	\$363,841.61
*Jns Entrp I	102.0400	2,704.9764	\$276,015.79
*MnSty LgCap Gr R6	9.4900	90,867.8201	\$862,335.64
*PIMCO Forgn BdUSDIrHdgInst	10.5000	3,386.2143	\$35,555.26
*PIMCO Ttl Rtn Inst	10.1200	77,988.4635	\$789,243.27
*TRowePr Inst SmCap Stk	22.6800	22,096.5154	\$501,148.94
*Vngrd Hi Yld Corp Adml	5.8800	48,469.6093	\$285,001.30
*Vngrd Infl Prtct Sec Adml	25.8100	2,593.4603	\$66,937.20
*Vngrd Inst Indx Inst	215.1300	5,568.5501	\$1,197,962.19
*Vngrd MdCap Indx Inst	38.0900	40,037.9960	\$1,525,047.27

^{**}Including, but not limited to, Rollovers and Transfers Out, Partial and Lump Sum Payments.

Investment Option Summary (continued)

Investment Option *Vngrd REIT Indx Adml *Vngrd Sm Cap Indx Fd AS *Vngrd Ttl IntlStkIndx Inst *WF Spec MdCap Val R6 *WR Ivy Intl Cor Eq R6	Ending Price 117.1400 63.8700 106.4800 36.7600 18.1300	Units/Shares 3,028.6683 6,187.6034 5,269.6403 3,035.2392 21,523.2560	Value \$354,778.22 \$395,202.25 \$561,111.33 \$111,575.38 \$390,216.70
Total Value			\$18,916,379.84
*AmFds 2030 TrgtDtRtrmt R6 *AmFds 2045 TrgtDtRtrmt R6 Howard County Fixed	13.2400 13.8400	235.8986 1,045.7468	\$3,123.29 \$14,473.13 \$2,721.36
Total Value			\$20,317.78
TOTAL			\$18,936,697.62

^{*} Fund is valued in shares rather than units

Participant Account Values by Investment Option - January 1, 2017 to March 31, 2017

TOTAL	\$18,104,650.13	\$615,820.38	\$0.00	-\$536,349.51	-\$5,512.42	\$29,479.46	\$728,609.58	\$18,936,697.62
IRA Total	\$18,552.36	\$713.45	\$0.00	\$0.00	-\$4.39	\$0.00	\$1,056.36	\$20,317.78
Howard County Fixed	\$2,572.02	\$135.00	\$0.00	\$0.00	-\$0.58	\$0.00	\$14.92	\$2,721.36
*AmFds 2045 TrgtDtRtrmt R6	\$13,093.78	\$503.45	\$0.00	\$0.00	-\$3.14	\$0.00	\$879.04	\$14,473.13
*AmFds 2030 TrgtDtRtrmt R6	\$2,886.56	\$75.00	\$0.00	\$0.00	-\$0.67	\$0.00	\$162.40	\$3,123.29
IRA (0038536002)								
457(b) Plan Total	\$18,086,097.77	\$615,106.93	\$0.00	-\$536,349.51	-\$5,508.03	\$29,479.46	\$727,553.22	\$18,916,379.84
*WR Ivy Intl Cor Eq R6	\$348,111.77	\$27,127.56	\$647.61	-\$14,005.80	-\$159.36	\$0.00	\$28,494.92	\$390,216.70
*WF Spec MdCap Val R6	\$106,721.36	\$2,294.35	\$707.68	-\$227.74	-\$79.71	\$0.00	\$2,159.44	\$111,575.38
*Vngrd Ttl IntlStkIndx Inst	\$549,029.62	\$17,484.37	-\$49,180.67	-\$567.89	-\$242.57	\$1,818.29	\$42,770.18	\$561,111.33
*Vngrd Sm Cap Indx Fd AS	\$356,810.88	\$35,083.31	-\$8,776.76	-\$1,531.60	-\$90.47	\$1,233.59	\$12,473.30	\$395,202.25
*Vngrd REIT Indx Adml	\$316,286.71	\$12,728.91	\$22,890.21	-\$235.63	-\$140.49	\$2,514.97	\$733.54	\$354,778.22
*Vngrd MdCap Indx Inst	\$1,393,701.95	\$62,424.51	\$1,227.63	-\$19,546.51	-\$353.74	\$5,068.26	\$82,525.17	\$1,525,047.27
*Vngrd Inst Indx Inst	\$1,266,978.79	\$38,468.77	-\$184,509.30	-\$1,927.46	-\$333.34	\$5,725.19	\$73,559.54	\$1,197,962.19
*Vngrd Infl Prtct Sec Adml	\$63,977.61	\$2,412.70	\$425.18	-\$726.83	-\$53.61	\$69.91	\$832.24	\$66,937.20
*Vngrd Hi Yld Corp Adml	\$270,720.02	\$25,962.68	-\$3,538.53	-\$13,940.16	-\$119.04	\$3,812.70	\$2,103.63	\$285,001.30
*TRowePr Inst SmCap Stk	\$459,695.93	\$29,985.97	-\$2,896.50	-\$1,705.52	-\$206.28	\$0.00	\$16,275.34	\$501,148.94
*PIMCO Ttl Rtn Inst	\$792,888.20	\$21,251.49	-\$16,209.96	-\$20,984.50	-\$294.69	\$5,702.59	\$6,890.14	\$789,243.27
*PIMCO Forgn BdUSDlrHdgInst	\$34,171.26	\$904.63	\$682.92	-\$383.79	-\$39.93	\$84.97	\$135.20	\$35,555.26
*MnSty LgCap Gr R6	\$831,365.74	\$17,245.47	-\$6,132.63	-\$68,160.97	-\$275.76	\$0.00	\$88,293.79	\$862,335.64
*Jns Entrp I	\$253,313.75	\$6,696.63	-\$481.83	-\$1,587.07	-\$113.05	\$0.00	\$18,187.36	\$276,015.79
*JPM US Eq R6	\$261,371.30	\$19,672.00	\$66,435.45	-\$5,280.98	-\$166.57	\$782.81	\$21,027.60	\$363,841.61
*JPM Eq Inc R6	\$612,010.03	\$33,495.01	-\$53,421.10	-\$3,639.83	-\$231.84	\$2,666.18	\$17,727.09	\$608,605.54
*Invsco SmCap Val Y	\$360,168.30	\$9,446.16	\$64,237.82	-\$1,535.09	-\$109.62	\$0.00	\$19,647.74	\$451,855.31
Howard 457 Fixed	\$4,473,561.30	\$64,830.29	\$360,015.92	-\$350,790.36	-\$1,194.23	\$0.00	\$25,805.31	\$4,572,228.23
*AmFds New Wld R6	\$298,667.20	\$7,547.78	-\$69,364.97	-\$159.33	-\$98.12	\$0.00	\$25,301.51	\$261,894.07
*AmFds 2060 TrgtDtRtrmt R6	\$1.341.89	\$3,720.00	\$0.00	\$0.00	-\$0.75	\$0.00	\$139.59	\$5,200,73
*AmFds 2055 TrgtDtRtrmt R6	\$36,150,40	\$2,976.00	\$0.00	\$0.00	-\$8.85	\$0.00	\$2,457.85	\$41,575,40
*AmFds 2050 TrgtDtRtrmt R6	\$62.147.55	\$3,540.05	\$1,228.14	\$0.00	-\$17.63	\$0.00	\$4,210.68	\$71,108,79
*AmFds 2045 TrgtDtRtrmt R6	\$229,435.12	\$26,456.16	\$35.72	\$0.00	-\$59.82	\$0.00	\$15,530.69	\$271,397.87
*AmFds 2040 TrgtDtRtrmt R6	\$201,078.76	\$14,417.74	\$0.00	\$0.00	-\$51.43	\$0.00	\$13,281.01	\$228,726.08
*AmFds 2035 TrgtDtRtrmt R6	\$416,074.73	\$9,968.60	-\$178.02	\$0.00	-\$123.08	\$0.00	\$26,224.54	\$451,966.77
*AmFds 2030 TrgtDtRtrmt R6	\$946,955.99	\$39,059.24	-\$11,101.18	\$0.00	-\$224.71	\$0.00	\$53,101.05	\$1,027,790.39
*AmFds 2025 TrgtDtRtrmt R6	\$1.071.753.07	\$36.021.03	-\$112.742.83	\$0.00	-\$237.37	\$0.00	\$48.250.77	\$1.043.044.67
*AmFds 2020 TrgtDtRtrmt R6	\$1,440,614.88	\$32.046.12	\$25,628.07	-\$28,161.42	-\$336.06	\$0.00	\$58.502.72	\$1.528.294.31
*AmFds 2010 TrgtDtRtrmt R6 *AmFds 2015 TrgtDtRtrmt R6	\$224,520.06 \$406.473.60	\$4,181.35 \$7.658.05	\$0.00 -\$25.628.07	-\$1,251.03 \$0.00	-\$53.68 -\$92.23	\$0.00 \$0.00	\$7,291.30 \$13.619.98	\$234,688.00 \$402.031.33
457(b) Plan (0038536001)								
	Balance	<u>Payments</u>	Exchanges	<u>Disbursements</u>	Credits/Fees	Reimb	Gain/Loss	Balance
	Beginning	Loan		Loan	Charges/	Cap Gain/		Ending
		Contributions/		Distributions/		Dividend/		
						Interest/		

^{*} Fund is valued in shares rather than units

Gain/Loss is the difference between the account balance on the first and last day of the period, after allowing for the effects of transactions.

Loan Information - January 1, 2017 to March 31, 2017

Plan Type - 457(b) Plan Loan Pa						Loan Payı	ments th	is Period	<u>l</u>	
Principal		Principal	Principal		Principal			Finance	_	*Principal
Balance On	Principal	Loan	Loan	Principal	Balance On	Principal	Interest	Charges	Total	Default as of
01/01/2017	Paid	Adjustment	Disbursement	Offset	03/31/2017	Paid	<u>Paid</u>	Paid	<u>Payment</u>	03/31/2017
\$78,807.51	\$8,331.71	\$0.00	\$15,000.00	\$0.00	\$85,475.80	\$8,331.71	\$877.38	\$107.42	\$9,316.51	\$2,433.80
*Default amounts are included in Reginning and Ending Relances										

Investment Performance Information - January 1, 2017 to March 31, 2017

The following are percentage changes in Net Assets (with capital gains and income dividends reinvested) for the funds under the Plan, for the respective periods ended 03/31/2017. The results shown represent past performance and do not represent expected future performance or experience. Past performance does not guarantee future results. Investment return and principal value of an investment will fluctuate so that an investor's shares, when redeemed, may be worth more or less than their original cost. Current performance may be lower or higher than the data quoted. Performance data current to the most recent month-end may be obtained by visiting: WWW.HOWARD457.COM. Please consider the fund's investment objectives, risks, and charges and expenses carefully before investing. The prospectus contains this and other important information about the investment company. Prospectuses are available by calling (877)677-3678. Read the prospectus carefully before investing.

The rates of return do not reflect a maximum deduction of a 0.09% annual plan asset fee, which, if reflected, would reduce the performance shown.

Current Year

Please see other important disclosures at the end of this report.

Annualized Current

VRU#	Fixed Investment Option	Quarter Yield	Guaranteed Minimum Yield						
496	HOWARD 457 FIXED	2.360%	N/A						
9171	Howard County Fixed	2.360%	N/A						
		Manuslanastan				01		Gross	
\ "		Morningstar		•	Annual F		Since	Inception	Expense
VRU#	Variable Investment Options	Category	<u>YTD</u>	<u>1 Year</u>	<u>5 Year</u>	<u>10 Year</u>	<u>Inception</u>	<u>Date</u>	<u>Ratio</u>
4407	Specialty	Deal Catata	0.000/	2 000/	0.700/	4.000/	40.000/	11/10/01	0.400/
1167	Vngrd REIT Indx Adml	Real Estate	0.96%	3.08%		4.98%	10.99%		0.12%
118	PIMCO Forgn BdUSDIrHdgInst	World Bond	0.63%	4.80%	5.69%	6.55%	7.41%	12/02/92	0.51%
674	Small-Cap Stocks Vngrd Sm Cap Indx Fd AS	Small Blend	3.74%	21.51%	12.89%	8.20%	9.10%	11/13/00	0.08%
1533	•	Small Growth	3.61%	23.50%		9.70%	9.10%		0.67%
379	TRowePr Inst SmCap Stk Invsco SmCap Val Y	Small Value	4.80%	24.90%		9.70%	10.29%		0.87%
319	International Stocks	Siliali value	4.00 /0	24.90 /0	12.70/0	9.05 /6	10.2970	00/12/03	0.07 /0
1118	AmFds New Wld R6	Diversified Emerging	10.68%	15.15%	4.47%	4.19%	8.02%	06/17/99	0.65%
1110	Ailli do New Wid No	Mkts	10.0070	10.1070	7.77 /0	4.1070	0.0270	00/11/00	0.0570
883	Vngrd Ttl IntlStkIndx Inst	Foreign Large Blend	8.46%	13.72%	4.85%	N/A	4.23%	11/29/10	0.10%
1281	WR Ivy Intl Cor Eq R6	Foreign Large Blend	8.05%	14.83%	7.42%	N/A	4.37%	04/02/07	0.83%
	Mid-Cap Stocks	0 0							
840	Vngrd MdCap Indx Inst	Mid-Cap Blend	6.19%	16.73%	12.89%	7.85%	9.88%	05/21/98	0.07%
1639	Jns Entrp I	Mid-Cap Growth	7.16%	16.85%	13.43%	9.68%	10.81%	09/01/92	0.78%
1488	WF Spec MdCap Val R6	Mid-Cap Value	2.03%	20.11%	15.27%	8.86%	12.53%	12/31/98	0.79%
	Large-Cap Stocks								
565	Vngrd Inst Indx Inst	Large Blend	6.05%	17.13%	13.27%	7.51%	9.65%	07/31/90	0.04%
1138	JPM US Eq R6	Large Blend	6.80%	19.47%		8.85%	10.67%		0.50%
1640	MnSty LgCap Gr R6	Large Growth	10.61%	14.60%	10.98%	8.92%	8.30%		0.62%
1162	JPM Eq Inc R6	Large Value	3.55%	16.41%	12.79%	7.79%	9.17%	07/02/87	0.51%
	Bonds								
1539	Vngrd Hi Yld Corp Adml	High Yield Bond	2.25%	11.24%	6.20%	6.44%	6.87%		0.13%
1153	Vngrd Infl Prtct Sec Adml	Inflation-Protected Bond	1.40%	1.46%		4.11%	3.81%		0.10%
650	Vngrd Ttl Bnd Mkt ldx Adm	Intermediate-Term Bond	0.91%	0.43%	2.27%	4.23%	4.24%	11/12/01	0.06%
654	PIMCO Ttl Rtn Inst	Intermediate-Term Bond	1.63%	2.42%	2.96%	5.61%	7.40%	05/11/87	0.47%
	Asset Allocation								
1108	AmFds 2010 TrgtDtRtrmt R6 (b)	Target-Date 2000-2010	3.24%	7.84%	6.76%	4.86%	4.81%	02/01/07	0.35%
1157	AmFds 2015 TrgtDtRtrmt R6 (b)	Target-Date 2015	3.44%	8.32%	7.40%	5.11%	5.07%	02/01/07	0.35%
1109	AmFds 2020 TrgtDtRtrmt R6 (b)	Target-Date 2020	4.01%	8.98%		5.32%	5.26%		0.37%
1158	AmFds 2025 TrgtDtRtrmt R6 (b)	Target-Date 2025	4.66%	10.37%		5.87%	5.80%		0.39%
1110	AmFds 2030 TrgtDtRtrmt R6 (b)	Target-Date 2030	5.58%	12.51%		6.34%	6.25%		0.41%
1403	AmFds 2035 TrgtDtRtrmt R6 (b)	Target-Date 2035	6.26%	14.01%		6.45%	6.36%		0.42%
1101	AmFds 2040 TrgtDtRtrmt R6 (b)	Target-Date 2040	6.46%	14.51%		6.54%	6.44%		0.43%
1404	AmFds 2045 TrgtDtRtrmt R6 (b)	Target-Date 2045	6.63%	14.89%		6.57%	6.48%		0.43%
1102	AmFds 2050 TrgtDtRtrmt R6 (b)	Target-Date 2050	6.62%	14.93%		6.59%	6.48%		0.43%
1411	AmFds 2055 TrgtDtRtrmt R6 (b)	Target-Date 2055	6.64%	14.95%		N/A	10.78%		0.45%
1412	AmFds 2060 TrgtDtRtrmt R6 (b)	Target-Date 2060+	6.59%	14.97%		N/A	6.58%		0.60%
	J (-)	5							

Investment Performance Information - January 1, 2017 to March 31, 2017

FEE DISCLOSURES

The Standardized illustration represents performance based on a \$10,000 hypothetical investment, and reflects the deduction of the following fees:

Gross expense ratios represent the fund's total operating expenses expressed as a percentage of the assets held in the fund. For more information about gross expense ratios, read the fund's prospectus.

Some mutual funds may impose a short term trade fee. Some funds may be subject to a trade restriction policy. Please read the underlying prospectus carefully.

FOOTNOTES

b) These funds are designed to provide diversification and asset allocation across several types of investments and asset classes, primarily by investing in underlying funds. Therefore, in addition to the fund's expenses, you are indirectly paying a proportionate share of the applicable fees and expenses of the underlying funds.

RISK DISCLOSURES

Money market funds: Money market funds are not insured or guaranteed by the FDIC or any other government agency. Although the goal of a money market is to preserve the value of an investment at \$1 per share, it is still possible to lose money.

International/emerging markets funds: Funds that invest in international stocks face risks that funds investing only in U.S. stocks do not. Currency fluctuation, political risk, differences in accounting standards and the limited availability of information may make these funds less stable.

Small company funds: Small and emerging companies may have less liquidity than larger, established companies. Therefore, funds investing in stocks of small or emerging companies may face greater price volatility and risk.

High-yield bond funds: Funds that invest in high-yield securities may have more credit risk and changes in price than funds that invest in higher-quality securities

Non-diversified funds: Funds that invest in a single industry or small number of securities may be more volatile than those that invest more broadly. **Government bond funds:** These funds invest mainly in securities of the U.S. government and its agencies; however, these entities do not guarantee the value of the funds.

Real estate funds: Funds that invest mainly in real estate are sensitive to economic and business cycles, changing demographic patterns and government actions.

IMPORTANT DISCLOSURES

"Inception Date" is the date the fund was established. The "Since Inception" column contains performance for the funds if the Inception Date was before the time period indicated.

Performance numbers in the YTD (Year To Date) column are not annualized returns and represent the total percentage change in share value from the beginning of the year to the date of this report.

Fund category data provided by Morningstar®. © 2017 Morningstar, Inc. All Rights Reserved. The Morningstar information contained herein: (1) is proprietary to Morningstar and/or its content providers; (2) may not be copied or distributed; and (3) is not warranted to be accurate, complete or timely. Neither Morningstar nor its content providers are responsible for any damages or losses arising from any use of this information. Although data is gathered from reliable sources, data accuracy and completeness cannot be guaranteed.

Nationwide and its affiliates (Nationwide) offer a variety of investment options to public sector retirement plans through variable annuity contracts, trust or custodial accounts. Nationwide may receive payments from mutual funds or their affiliates in connection with those investment options. Additionally, Nationwide may enter into arrangements to allocate all or a portion of these payments to plan sponsors for plan expenses. For more detail about the payments Nationwide receives, please visit www.nrsforu.com

Assets (deferrals and gain/loss) transferred from another plan/product are reflected in deferrals to date.

Questions? Ask for a Deemed IRA Retirement Specialist when you call Nationwide at 877-677-3678. The information you get is for educational purposes only and is not intended as investment advice. NRQ-0399AO

Distributions of contributions and earnings from the Roth account are tax free if contributions have been in the Roth elective deferral account for a period of at least five (5) tax years and the participant is at least 59½ years old at the time of the distribution.

Retirement Specialists are Registered Representatives of Nationwide Investment Services Corporation, member FINRA. In MI only: Nationwide Investment Svcs. Corporation

Nationwide, the Nationwide N and Eagle, Nationwide is on your side, and other marks displayed in this message are service marks of Nationwide Mutual Insurance Company or its affiliates, unless otherwise disclosed. © 2016 Nationwide.